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on receipt of this question paper.)

Note .~ Answers may be written either in English or in
 Hindi; ‘but the same medium should be used
throughout the paper.
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Attempt all questions.
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SECTION A
(wvE &)

1. A deductive argument may be valid even if one or
more of its premisses is false. Do you agree with
this ? Explain briefly. (3)
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Explain and illustrate Laws of Thought. (3)

Jerw wee far-fRoa R e 1)

What do you understand by denotation and connotation
of terms ? Explain and illustrate their mutual relation.

‘ (3)
@ & Py 9w o ¥ s o e # e aweRia

WA B I it ErEn W |

OR ()
Explain the notion of logical form of an argument.
Highlight its importance in evaluating arguments.’

WRF FTER S LU T R | g @ e
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Explain the notion of Existential Import. What is its.
impact on the traditional logic 7 Discuss. (4)
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Reduce the following sentences into standard form
categorical propositions : (Do three)
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(i} A few smiles are genuine.
FTT & am# wrnfes B8 2 )
~ (ii) Terrorists are ne';fer rational and emphatic.
AdFEAE wN N TRET oK w8 A ¥
(iii) Every penguin loves snow.
Y A T W e 2
(iv) Not all mushrooms are edible.‘

TN AT WA O a8 B 2

(v) Only talented musicians perform in the
‘Symphony. €))

B WA FilEs & @ Y e vl ¥

6. (a) Give converse and obverse of the foliowin'g

propositions : (Do two)
PR el @ RadeT e T By (Y
& W) |
(i) All sea creatures are intelligent animals.
SRR g eg —— |
(i)) Some nebulas are clouds of gas.
| g B e
P.T.O.



1216 ' 4

(iii) Some snowflakes are not uniform.
FE qUIRES TR TG A8 ¥
(iv) No fast food is nufritious products. (2x2=4)

W v §g dfesn gl A8 #

(b) Give contrapositives of the following propositions :
. (Dp one) )

PR T @ WReR AR (B T

3%) :
(i) All logicians are mathematicians.
T T s
(ii) Slome citizens are no£ liter-ates. {2)
FT RS WER T B

(¢) If “No child is voter” is true, then what can be

inferred about the truth and falsity of the following

proposition :

R “E W aEE wEEE A 27 R g A WK A
Prefiftan aotaea 9 o/ dEeEr & SR W =
FRIAE R w1 g 2

Some children are non-voters. . ‘ (2)

FF TAAH -



1216 _ 5

(d) If “All citizens are healthy persons” is false then
what can be inferred about the truth and falsity of
the following proposition :

TR ‘oW ARIRE W TS 87 W e W WR @
Pt adae & W=/ s @ W ¥ T
aIgiRa e o wwar @

Some non-healthy persons are not non-citizens.

)
HF F-w ARE A-TRE A& 2

7. If “All sheep are woolly haired” is true, then find the
value of its contrary and contradictory. (2x2=4)

Rk Tt ¥ FA W T 27 I R @ e fwdw ik
A e ST |

8. (a) Test the validity/invalidity of the following
syllogistic moods : (Do two)

FrfoRes afia At & Jua/ e @ aRew Y -
(®E R =)
() AEE — Ist figure
(i) AOI - 3rd ﬁgure.
(iii) EIE — 2nd figure
(iv) OEO - 4th figure (2x2=4)

P.T.O.
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{b} Test the validity/i‘nvalidity of the following
arguments by rules and fallacies of syllogism : (Do
one)

PR g A S sl @ B s Add
Ry @ i ¥ wE R (T W)

(i) No fighter pilots are aged persons and all
fighter pilots are courageous individuals hence
some courageous individuals are not aged
persons. '

=g N wEr - At A1 e gl w8
& ok ot dgr, R e wed wfw ¥ s
o wed At FE g TR e T8 8

(ii} All salmon are sharks because all sharks are
fish and some fish are salmon. (6)

@W%ﬂ?ﬁ%l |
(¢) Prove that: (Do onT:)

(i) In a valid categorical syllégism both the

premisses cannot be particular.

ﬁﬂ%ﬁ%ﬂﬁﬁawﬂmﬁa%aﬁm
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(it) Major premise must be universal in 2nd
figure: ' (5)

=m§%a?%ﬁ§hxsmﬁ%iiaun;munmaaeﬁmaéi
e (wdar®) s Tifee

I SECTION B
(mvg =)
9. Explain and illustrate the following informal fallacies
fPrfefias sritraRes T R erwon aftw e A :
(a) The Appeal to Emotion (ad populum)
Ao g (Fames gieaw)
‘ " OR ()
Argumeht Against the Person (ad hominum)

wafFaee g 9w

(b) The Appeal to Inappropriate Authority (ad
Verecundiam)

TEFEE gfeaen
OR (&)
Hasty Generalization (Converse’ Accident)

R g - TR (TRafda Iume d)

(c) Begging the Question (petitio principii)

P.T.O.
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OR (@)
Complex Question |

TRA W U BE W oW

(d) Equivocation
YEE o A
OR ()
Division ‘ (4%5=20)
fore - A (R )

10. ‘Identify and explain the fallacies committed in any
two of the following passages : |

Pl Td ¥ 2 RS G @ affE AN @ wsahe

(i) Sameer gets higheét grade in mathematics in
his class. The cause fd"r this remarkable
performance is that he drmks every mormng
bouravita with milk which helps him to analyze
the problems accurately.

T w7 A N www ¥ wd o ¥ fe €
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(i) An ideal woman is one who is an ideal wife.

v FedEwy W 98 2 W U AedEsT o 2

(iif) I saw seventy to eighty percent people wearing
Anna Hazare’s cap at Ram Lila Ground. I also
bought one and wore it. 1 felt proud.

FX oreien AT ¥ 2@ o e ¥ ol whima wfa
mmaﬁaﬁqﬁ@%‘lﬂ%ﬁwaﬁaﬁz
T UET N | HH V9 A5gE g

(iv) There are many juvenile offenders -because many
juvenile break the law, and the reason why so
many juvenile break the faw is that they are
juvenile offenders.

HEH W TIgEE IR ¥ wAid 95 @ AIgEH wAT
o AR ¥, SR NEE ¥ IS W N ¥
@ﬁ?%qﬂgw sl ¥ (2x5=10)
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